7 A 15 ¥ % [4£%-REEH] A5 46 J12TH (K
H == T F % 1 2 3 4 5 | 6:7 [1300 1830 HRERT |B%
1{E
2| HIEVRANEEERE
3| A |ifimsrimionts iy maiamiernsive s | (| 2% | EE | B ) 60
4 | K Teth R BR R (248) © 61
T |4 | iR (24F) @ [AETIHk] Wi | 64
8l
gl HlE RRI32F—2almE
10| A é(ig%?a‘»i%‘ﬁ%%(SE)H%%%Miﬁiﬂé??’ fiig
11{k 65
12| 7K |EFER T B LHR - =rEr| 66
13| R |ZiEzEn B WEEEEIERERS 67
5
16| H
17| H (DR
18[k o 69
19| 7K (7T A~yTF ERHET A ISR YF EERAF| 70
20| K|t JflE FEIEHOR(13:30~) Kl Bt aRt | LHR T ae 0= [ o 71
21| o HR ) HEWHG) e ' o o
2| L ule ox 23 E R kS
23
25|k ;\JE}!Z:;;@E%; KRE H=TULNAT U - BN o 1730
26| 7K ®) 17:30
27| A 'e) 17:30
28| 4> ®) 17:30
29| LI LEe e (~84)
30| H
31| H | EZ=4E i) (30 74) ¢} 17:30




